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WIESR MPRREER (TRER) BREROBESIHHDERS

% # s - BRHE By ¥ B i & & HE
B R 17,704,840 + 382,636 18,087,476
EEAGE 17,704, 840
EERE 382, 636
Z DR 17,704,840 x 53.85% ( 35% = (1 — 35%) ) 9, 534, 056
SRR 18,087,476 + 9,534,056 27,621,532
—REEEE 27,621,532 x 53.85% ( 35% = (1 — 35%) ) — 5,726 14,868, 468
KBS 27,621,532 + 14, 868, 468 42, 490, 000
B FEZET 42,490,000 x 10.00% 4,249, 000
EBEREH 42,490,000 + 4,249, 000 46, 739, 000
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BRI 18,087, 476
REFEHOBEES MR ER 18,087, 476
REFEHOBEES MR ER 18,087, 476
REFEHOBEES MR ER 17,704, 840
ETEE R 433, 500
1 EHEEEE 1.00 433, 500 433, 500
=
REEMOBES R 16, 357, 240
2 BEAMTEEROBES R 1.00 3,978, 780 3,978,780
=
3 B LAMEHER OB SRR 1.00 4, 865, 140 4,865, 140
=
4 FEEEDBESMHRER 1.00 3, 380, 300 3,380, 300
=
5 EHI& ED#E SRR 1.00 4,133, 020 4,133,020
=
ek - |E 441, 200
6 EaTHHE 1.00 121, 800 121, 800
[El
1 PSR E 1.00 121, 800 121, 800
[El
8 mIEHE 1.00 197, 600 197, 600
[El
R 472, 900
9 |MEBIEM 1.00 472,900 472, 900
=
EEEE 382, 636
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EHRARE 172, 636
10 EBHAME 1.00 172, 636 172, 636
=
MR 210, 000
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HEE
A 1.00 75, 800. 00 75, 800
F{EHRAm GRED
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57,000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
& Hi 1EZRERN  1.00K 433, 500. 00 433, 500
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% b R - KT BT 2 B O{f 2 H %
FEEMNE
A 1. 600 80, 200. 00 128, 320
HEnE
A 5. 000 75, 800. 00 379, 000
FEHAR (F%E)
A 14. 300 64, 800. 00 926, 640
HER (A)
A 13. 300 57,000. 00 758, 100
HER (B)
A 20. 200 47, 200. 00 953, 440
HER (C)
A 21.700 38, 400. 00 833, 280
& it 1E%8ESN : 1.00=C 3,978, 780. 00 ,978, 780
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EERNE
A 1.900 80, 200. 00 152, 380
HETE
A 6. 100 715, 800. 00 462, 380
E FEHRER (RET)
A 17.500 64, 800. 00 1,134, 000
B (A)
A 16. 300 57, 000. 00 929, 100
B (B)
A 24.7700 47, 200. 00 1,165, 840
e (C)
A 26. 600 38, 400. 00 1,021, 440
= & fEZERES : 1.00 4,865, 140. 00 4,865, 140
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£ . THLEOBL RS 1#5Y
£ %fr\ R - kTR Bifi g 5 i & = =
&
A 2.500 715, 800. 00 189, 500
EFERER (R
A 8.700 64, 800. 00 963, 760
B (A)
A 11. 200 57, 000. 00 638, 400
B (B)
A 27.000 47, 200. 00 1,274, 400
e (C)
A 18. 600 38, 400. 00 714, 240
=) &t YEZEREA : 1.00=K 3, 380, 300. 00 3, 380, 300
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HEE
A 3. 000 75, 800. 00 221, 400
F{EHRAm GRED
A 10. 600 64, 800. 00 686, 880
HEm (A)
A 13.700 57,000. 00 780, 900
HEm (B)
A 33.100 47, 200. 00 1,562, 320
HEh (C)
A 22.800 38, 400. 00 875, 520
& Hi 1EZRERN  1.00K 4,133, 020.00 4,133,020
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FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it 1EZ8EH : 1.00[E] 121, 800. 00 121, 800
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% L] g - BIRTiE ==Rivi #H = B @ & E i =
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it YEZERES : 1.00[E 121, 800. 00 121, 800
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HEE
A 1.00 75, 800. 00 75, 800
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HEm (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZRER : 1.00[E 197, 600. 00 197, 600
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B MESER IEED
% b R - KT BT 2 B O{f 2 H %
FEHAR (F%E)
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57,000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 3.00 38, 400. 00 115, 200
& it 1E%8ERH : 1.00=C 472, 900. 00 472,900
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= 1.00 210, 000. 00 210, 000
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